
●
○

●
○



Click on me to return 
to Table of Contents



• msleep() motor()
•





1.

2.





•

WOW! That was exhausting. 
This would be a great place 
to use a variable.
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left_motor = 0;

right_motor = 3;
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1. int left_motor

  

int l_motor or int lm

2. left_motor = 1;

3. left_motor

What is int?

int stands for “integer”. 
This means that the 
variable left_motor 
will have an integer value.

Click here for: 
Additional Data Types- Advanced learning

https://docs.google.com/presentation/d/1Qri0LWEH7ovnkzvLA5ercOjRevTRIOw79klduqo5dTI/edit#slide=id.g16beb6e05d_2_0
https://docs.google.com/presentation/d/1Qri0LWEH7ovnkzvLA5ercOjRevTRIOw79klduqo5dTI/edit#slide=id.g16beb6e05d_2_0
https://docs.google.com/presentation/d/1Qri0LWEH7ovnkzvLA5ercOjRevTRIOw79klduqo5dTI/edit#slide=id.g16beb6e05d_2_0
https://docs.google.com/presentation/d/1Qri0LWEH7ovnkzvLA5ercOjRevTRIOw79klduqo5dTI/edit#slide=id.g16beb6e05d_2_0


#include <kipr/botball.h>

int main()
{
  int left_motor; // 1. creating variables
  int right_motor;

  left_motor = 0; // 2. setting variables
  right_motor = 3;

  motor(left_motor,100); // 3. using variables
  motor(right_motor,100);
  msleep(1000);

  ao();
  return 0;
}



Sample of comments

#include <kipr/botball.h>
int main ()
{

int arm = 0;
int up = 1234;
int down = 230;
int  claw = 3;             
int close= ?;
int open= ?;

printf(“Hello World\n”);

return 0;
}

/ arm = 0
// up = 1234
// down = 230
// claw= 3  
// close=?
//open=?
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a.
b.

int spd
c.
 int time



msleep

https://drive.google.com/open?id=1_CWInl-3Qsrt7Z0mRQJpvnrRWveebl-bQte0D20mMnA


https://docs.google.com/presentation/d/1oQeNtJuh78VzOgjqC1TFxN2sBVEN7WF3QWHWOc9XnPc/edit?usp=sharing




Suggestions: Understanding rubric 
and or Group Collaboration

https://docs.google.com/presentation/d/1almnTUXLlvOTqFLo-M9KyWVCk8yKI86wS2Fm7QvGKGA/edit#slide=id.g160ba0e388_5_5
https://docs.google.com/presentation/d/1almnTUXLlvOTqFLo-M9KyWVCk8yKI86wS2Fm7QvGKGA/edit#slide=id.g160ba0e388_5_5

